Time: 3 Hours

Marks: 100

NB: 

1. Question Nos. 1 and 6 are compulsory and answer any two from the remaining fromeach section.

2. Figures to the right indicate full marks.

3. Working should be part of answer.

4. Answer both the sections in the same answer-book.

Section I-(Auditing)

· Q.1 (a) What do you mean by Vouching? 10 

·   

How would you vouch the followings? 

  

  

1. (i)Cash Sales

  

2. (ii)Travelling Expenses

·   (b) Distinguish between Auditing and Investigation. 8 

· Q.2 (a) What is test checking? Discuss its advantages and disadvantages. 8 

·   (b) What are the objectives of verification? 8 

· Q.3 (a) Explain the terms "Internal Control","Internal Check" and "Internal Audit". 8 

·   (b) What are the rights of a Company Auditor? 8 

· Q.4 (a) Discuss the procedure for Removal of a Company Auditor. 8 

·   (b) Scrutinise and comment on the following Ledger Accounts. In the Books of ADD Ltd. 8 

·   

	Plant and Machinery A/c.

	
	

	Dr.
	
	
	
	
	Cr.

	Date
	Particulars
	Rs.
	Date
	Particulars
	Rs.

	01-01-2005
	To Balance b/fd.
	12,50,000
	31-03-2005
	By Sale of Machinery A/c.
	3,00,000

	01-06-2005
	To Bank A/c.
	6,50,000
	31-10-2005
	By Asset Discarded A/c.
	1,50,000

	01-07-2005
	To Bank A/c.
	50,000
	31-12-2005
	By Balance c/fd.
	15,00,000

	
	(Installation)
	
	
	
	

	
	
	19,50,000
	
	
	19,50,000


·   

·   

	Provision for Depreciation on Plant and Machinery A/c.

	
	

	Dr.
	
	
	
	
	Cr.

	Date
	Particulars
	Rs.
	Date
	Particulars
	Rs.

	31-03-2005
	To sale of Machinery A/c
	2,40,000
	01-01-2005
	By Balance b/fd.
	6,30,000

	31-10-2005
	To Asset Discarded A/c
	1,45,000
	31-12-2005
	By P & L A/c.
	1,22,500

	31-12-2005
	To Balance c/fd.
	3, 6 7, 500
	
	
	

	
	
	7,52,500
	
	
	7,52,500


·  
· Q.5 Write short notes on any four of the followings:- 16 

·   (a) Errors of Principle   

  (b) Auditing in Computer Environment.   

  (c) Appointment of an Auditor in Casual Vacancy.   

  (d) Audit in Depth.   

  (e) Qualified Audit Report.   

  (f) Concept of True and Fair View.   

Section II â€” (Cost Accounting)

· Q.6   20 

	Details
	Process A
	Process B
	Process C

	
	Rs.
	Rs.
	Rs.

	Indirect Material
	1,00,000
	18,750
	16,550

	Direct Wages
	56,250
	35,000
	44,900

	Direct Expenses
	51,250
	6,875
	11,500

	Value of Opening Stock per Unit
	25
	31
	40

	Scrap Value per Unit
	13.50
	11.25
	21.00

	
	Units
	Units
	Units

	Output
	9,750
	9,625
	8,000

	Stock of Process Output:
	
	
	

	01-01-2005
	1,500
	1,375
	2,000

	31-12-2005
	1,250
	2,000
	1,000

	Percentage of Wastage
	2
	5
	10


·   

·   

10,000 units of Direct Material were introduced in Process A at the rate of Rs. 5 per unit. The percentage of wastage is computed on the number of units entering the process concerned. From the above information of `DE' Enterprises prepare :

· (1) Process Accounts,

· (2) Process Stock Accounts,

· (3) Normal Loss Account,

· (4) Abnormal Loss Account,

· (5) Abnormal Gain Account.

· Value closing stock at the respective Process Cost.

  

    Q.7 (a) Calculate material and labour variances from the following data: 6 

    

For 5 units of Product A, the Standard Data are 

    

  Material â€” 40 kg. @ Rs. 25 per kg.

  

  Labour â€” 100 hours @ Rs. 2.50 per hour.

    

    

Actual data are : 

    

  Actual Production â€” 1000 Units.

  

  Material â€” 7,840 kg. @ Rs. 27 per kg.

  

  Labour â€” 19,800 hours @ Rs. 2.60 per hour.

  (b) From the following data compute 9   

    

1. P/V Ratio

2. B.E.P. in Rupees and in Unit.

3. Number of Units to be sold to earn a profit of Rs. 7,50,000.

  Sales Price............................... Rs. 20 per Unit

  Direct Material........................... Rs. 5 per Unit

  Direct Wages................................ Rs. 6 per Unit

  Variable Administrative Overheads............Rs. 3 per Unit

  Fixed Factory Overhead.......................Rs. 6,40,000 per year

  Fixed Administrative Overheads...............Rs. 1,52,000 per year

  

    Q.8 From the books of accounts of M/s. Avdhoot Enterprises, the following details have been extracted for the Quarter Ending December 31, 2005:- 15 

	  Particulars
	Rs.

	Stock of Materials â€” Opening
	2,70,000

	Stock of Materials â€” Closing
	3,00,000

	Purchases of Materials
	12,48,000

	Direct Wages
	3,57,600

	Direct Expenses
	1,20,000

	Indirect Wages
	24,000

	Salaries to Administrative Staff
	60,000

	Carriage Inwards
	48,000

	Carriage Outwards
	37,500

	Manager's Salary
	72,000

	General Charges
	37,200

	Legal charges for Criminal Suit
	20,000

	Commission on sales
	28,000

	Fuel
	96,000

	Electricity charges (Factory)
	72,000

	Directors' Fees
	36,000

	Repairs to Plant and Machinery
	63,000

	Rent, Rates and Taxes â€”Factory
	18,000

	Rent, Rates and 'Faxes â€” Office
	9,600

	Depreciation on Plant and Machinery
	45,000

	Depreciation on Furniture
	3,600

	Salesmen's Salaries
	50,000

	Audit Fees
	18,000


  

1.   The Manager's time is shared between the factory and the office in the ratio of 20:80.

2. Carriage outwards include Rs. 7,500 being carriage inwards on Plant and Machinery.

3. Selling Price is the 120% of the cost price.

  From the above details prepare detailed cost sheet for the quarter ending 31-12-2005 and ascertain sales.   

    

  Q.9 S. V. Construction Ltd. have obtained a contract for construction of a Building. The value of the contract is Rs. 45,00,000. The work commenced on 1st July, 2004 and completed on 31st December, 2005. The following information relates to this contract: 15 

	Particulars
	31-12-2005 (RS.)
	31-12-2004 (RS.)

	Material Issued
	13,50,000
	3,75,000

	Direct Wages
	10,35,000
	4,70,000

	Direct Expenses
	1,00,000
	45,000

	Indirect Expenses
	27,000
	6,000

	Plant Issued
	----
	63,000

	Sub contract charges
	60,000
	15,000

	Work Certified (cumulative)
	45,00,000
	10,00,000

	Work Uncertified
	----
	35,000


    

  The above plant was specially issued for the contract. The residual value of the plant at the end of the project was estimated to be Rs. 3,000.

The contractee has agreed to pay 90% of the work certified. The accounts are closed on 31st December, every year. Prepare â€”

  (1) Contact Account and 

  (2) contractee Account for two years 2004 and 2005. 

  Show the relevant items in Balance Sheet as on 31-12-2004. 

    

  Q.10 (a) Explain the different Overhead Cost Variances. 8 

    (b) What is Break-Even-Point ? What are the advantages and limitations of Break-Even Point ?
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1. Questions No. 1 is compulsory and carries 20 marks.

2. Attempt any five questions, each carrying 16 marks from remaining questions.

3. Working notes should form part of your answer.

4. Proper presentation and neatness is essential.

· Q.1 M/s. Rajesh & Co. gives you the following information. Prepare trading and profit and loss account for the year ended 31st March, 2004 and balance sheet as on that date in as much detail as is possible. 20 

	Opening Stock
	Rs. 90,000

	Stock Turnover Ratio
	10 times

	Net Profit Ratio on Turnover
	15%

	Gross Profit Ratio on Turnover
	20%

	Current Ratio
	4: 1

	Long Term Loan
	Rs. 2, 00,000

	Depreciation on Fixed Assets @ 10
	Rs. 20,000

	Closing Stock
	Rs, 1, 02,000

	Credit period allowed by suppliers
	One month

	Average Debt collection period
	Two months


  

On 31st March, 2004 current Assets consisted of stock, debtors and cash only. There was no bank overdraft. All purchases were made on credit. Cash sales were 1/3rd of credit sales. 

Q 2. From the following Balance Sheet and information of TNG Ltd., prepare fund flow statement and schedule of item wise changes in working capital for the year ended 31-12-2005 :- 16 

	Balance Sheet

	
	

	Liabilities
	2004
Rs.
	2005
Rs.
	Assets
	2004
Rs.
	2005
Rs.

	Equity Share Capital 
	40,000 
	70,000 
	Land
	80,000
	80,000

	P & L A/c
	13,420 
	16,000 
	Buildings 
	40,000
	36,000

	General Reserve 
	13,180 
	14,200 
	Furniture 
	5,000
	7,000

	Long Term Loan 
	16,400 
	14,000 
	Debtors
	12,200
	16,600

	Creditors
	36,720 
	17,000 
	Bills Receivable 
	2,000
	13,000

	Bills Payable
	15,100 
	5,800 
	Goodwill 
	19,000
	16,000

	Prov. for Tax 
	9,000 
	12,000 
	Cash
	620
	5,400

	Proposed Dividend 
	15,000 
	25,000 
	
	
	

	
	1, 58,820
	1,74,000
	
	1, 58,820
	1,74,000


  

· Additional Information:
1. Additional land was purchased during the year at a cost of Rs. 1, 20,000 and later on sold at a profit of Rs. 20,000 during the year.

2. Furniture having book value of Rs. 2,000 was sold for Rs. 1,000.

3. An interim dividend of Rs. 5,000/- was paid during the year.

4. Income Tax paid Rs. 8,500/ .

5. Charged depreciation on Building Rs. 4,000 and Furniture Rs. 300/.

6. Proposed dividend for last year has been paid during the year.

· Q 3. Following are summarized Balance Sheets of BDM Ltd. as on 31st Dec., 2004 Balance Sheet 2005. 16 

	Balance Sheet

	
	

	Liabilities
	2004
Rs.
	2005
Rs.
	Assets
	2004
Rs.
	2005
Rs.

	Equity Share Capital 
	2,00,000
	2,50,000 
	Bank
	35,000
	16,000

	12% Debentures
	1,00,000
	80,000 
	Stock 
	40,000
	75,000

	10% Preference Share Capital
	50,000
	80,000
	Debtors
	90,000
	1,50,000

	Bank Loan
	70,000
	1,10,000 
	Machinery
	75,000
	60,000

	Reserves
	20,000
	25,000 
	Furniture
	10,000
	8,000

	P & L A/c
	50,000
	60,000
	Land 
	1,70,000
	2,80,000

	Creditors
	60,000
	75,000 
	Buildings
	1,40,000
	99,000

	Bills Payable
	40,000
	33,000 
	Goodwill
	30,000
	25,000

	
	5,90,000
	7,13,000
	
	5,90,000
	7,13,000


    

· Additional Information:
1. Depreciation charged during 2005 was Rs. 4,000/- on Furniture. Rs. 12,000/- on Machinery and Rs. 20,000/- on Buildings.

2. Part of Machinery was sold for Rs. 15,000/- at a loss of Rs. 4,000/.

3. During 2005 interim dividend was paid Rs. 10,000 & Income Tax was paid Rs. 5,000/-.

4. During the year part of the Building was sold at book-value.

5. You are required to prepare Cash Flow Statement as per AS. 3 (Use Indirect method).

· Q 4. Re-write the following statement of changes in working capital by calculating the missing figures: - 16 

	Statement of Changes in working capital

	
	

	Particulars
	
	31-12-2004
	31-12-2005
	Working Capital 
increase/ (Decrease)
	

	(A) Current Assets
	
	
	
	
	

	Stock 
	
	1, 00,000
	?
	20,000
	

	Debtors
	
	?
	70,000
	?
	

	Cash 
	
	10,000 
	15,000
	?
	

	Bank
	
	25,000 
	?
	25,000
	

	Bills Receivables 
	
	30,000 
	25,000
	?
	

	Prepaid Expenses
	
	5,000
	?
	1000
	

	
	(A)
	?
	?
	-
	

	(B) Current Liabilities 
	
	
	
	
	

	Creditors
	
	20,000 
	? 
	(10,000)
	

	Bills Payable 
	
	10,000
	5,000
	?
	

	Outstanding Wages 
	
	3,000
	?
	1,000
	

	Outstanding Salary
	
	?
	4,000
	?
	

	
	(B)
	40,000
	?
	-
	

	Working Capital (A-B)
	
	?
	?
	-
	

	Increase in working capital
	
	
	
	35,000
	

	
	
	
	
	60,000
	


  

· Q.5 A & B carrying on partnership business. Their position as on 31st March 2005, 2004& 2003 is as follows: 16 

	(i) Balance sheets as at 31st March :

	
	(Rs. in lacs)

	Assets
	2005
	2004
	2003
	
	

	Fixed Assets (at cost less Depreciation)
	30.00
	25.00
	24.00
	
	

	Investment
	2.00
	1.00
	2.00
	
	

	Stock in Trade
	12.00
	10.00
	8.00
	
	

	Accounts Receivable
	18.00
	15.00 
	12.00
	
	

	Loans & Advances
	8.00
	8.00
	6.00
	
	

	Cash & Bank Balances 
	1.00
	1.00 
	1.00
	
	

	
	71.00
	60.00
	53.00
	
	

	Liabilities
	
	
	
	
	

	Partners' Capital Accounts
	35.00
	30.00
	25.00
	
	

	Partner's Current Accounts
	6.00
	4.00
	4.00
	
	

	Bank Loans 
	8.00
	6.00
	6.00
	
	

	Sundry Creditors 
	22.00
	20.00
	18.00
	
	

	
	71.00
	60.00
	53.00
	
	

	
	
	
	
	
	


  

	(ii) Summarised Income Statements for the year ended 31st March :

	
	(Rs. in lacs)

	Particulars
	2005
	2004
	2003
	
	

	Net Sales
	240.00
	220.00
	200.00 
	
	

	Less : Cost of Sales
	180.00
	170.00
	150.00
	
	

	Gross Margin
	60.00
	50.00
	50.00
	
	

	Less : Operating Expences
	50.00
	40.00 
	36.00
	
	

	Net Profit before Tax
	10.00
	10.00
	14.00
	
	


  

Prepare Trend Analysis Statement taking earliest year as the base. Writing Balance Sheet in vertical form suitable for analysis in Trend Statement is necessary. 

· Q. 6 Following financial statement for the year ended 31st March, 2005 are submitted to you by the accountant of Star Ltd. 16
·   

	Trading and Profit and Loss Account for the Year ended 31st March, 2005

	
	

	Particulars
	
	Rs.
	Particulars
	Rs.
	

	To Opening Stock
	
	70,000
	By Sales
	16,60,000
	

	To Purchases
	15,30,000
	
	By Closing Stock
	1,60,000
	

	( - ) Returns
	30,000
	15,00,000
	
	
	

	To Gross Profit
	
	2,50,000
	
	
	

	
	
	18,20,000
	
	18,20,000
	

	
	
	 
	
	 
	

	To Depreciation
	
	36,000
	By Gross Profit
	2,50,000
	

	To Administration Expenses
	
	50,000
	By Interest
	10,000
	

	To Selling & Distribution Expenses
	
	24,000
	
	
	

	To Provision for Income-tax
	
	40,000
	
	
	

	To Proposed Dividend
	
	16,000
	
	
	

	To Profit Balance
	
	94,000
	
	
	

	
	
	2,60,000
	
	2,60,000
	


  

	Balance Sheet as at 31st March, 2005

	
	

	Liabilities
	Amount
Rs.
	Assets
	Amount
Rs.
	
	

	Share Capital 
	3,00,000
	Goodwill
	20,000
	
	

	Profit and Loss Account
	1,80,000
	Cash in Hand
	8,000
	
	

	Proposed Dividend
	16,000
	Stock in Trade
	1,60,000
	
	

	Bank Overdraft
	38,000
	Sundry Debtors
	1,78,500
	
	

	Sundry Creditors
	26,000
	Land & Building
	92,150
	
	

	Provision for Depreciation
	55,750
	Plant & Machinery
	1,28,600
	
	

	Provision for Tax
	40,000
	Prepaid Expenses
	1,500
	
	

	
	
	Expenses on Issue of Shares
	7,000
	
	

	
	
	Short Term Investments
	60,000
	
	

	
	6,55,7500
	
	6,55,750
	
	


  

Rearrange the above statements in a form suitable for analysis and determine Net Worth, Quick Assets, Quick Liabilities, Operating Profit and Retained Earnings.

· Q.7 From the following Profit and Loss Account information for year ending 2004 and 2005 prepare Common Size statement. Arrange information in Vertical Form suitable for analysis 16  
	
	2004
Rs.
	2005
Rs.

	Sales 
	10, 00,000 
	15, 00,000

	Closing Stock
	2, 50,000
	3, 00,000

	Opening Stock 
	1, 50,000
	2, 50,000

	Purchases 
	3, 00,000 
	4, 50,000

	Wages 
	2, 00,000
	3, 00,000

	Manufacturing Expenses
	1, 00,000
	1, 50,000

	Administrative Expenses
	50,000
	50,000

	Selling & Distribution Expenses
	50,000
	75,000

	Loss on Sale of Furniture
	25,000
	0

	Interest on Debenturess
	10,000
	10,000

	Profit on Sale of Shares
	50,000
	0


  

· (i) Stock at the end Rs. 40,000 more than the stock, in the beginning.

· Find Out:

· (a) Cost of Goods Sold

· (b) Gross Profit

· (c) Net Profit

· (d) Current Assets

· (e) Capital

· (f) Total Liabilities

· (g) Closing Stock

· (h) Total Assets

· Q.8 From the following data provided by M/s Alpha Ltd. showing working capital requirements for the year ended 31st March, 2006: 16  
· (a) Estimated activity/operations for the year 2, 60,000 units (52 weeks).

· (b) Raw material remains in stock for 2 weeks and production cycle takes 2 weeks.

· (c) Finished Goods remaining in stock for 2 weeks.

· (d) 2 weeks credit is allowed by suppliers.

· (e) 4 weeks credit is allowed to Debtors.

· (f) Time lag in payment of wages and overheads is 2 weeks each.

· (g) Cash & Bank Balance to be maintained Rs. 25,000.

· (h) Selling price per unit is Rs. 15.

· (i) Analysis of cost per unit as follows:-

· (1) aterial 331/3% of sales.

· (2) Labour and overheads in the ratio of 6 : 4 per unit

· (3) Profit is at Rs. 5 per unit.

Assume that operations are evenly spread throughout the year; Wages and Overheads accrue similarly. Manufacturing process requires feeding of material fully at the beginning. Degree of work-in-progress is 50%. Debtors are to be estimated at selling Price.

  

· Q.9 Write short notes on any four: 16  
· (a)Window dressing of current ratio.

· (b)Uses of ratio.

· (c)Cash from operating activities.

· (d) MIS report.

· (e) Limitation of financial statmentsts.

· (f) Cost of goods sold.
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1. Question No. 1 is compulsory and carries 22 marks.

2. Attempt any three questions from Question No. 2 to Question No. 6, each carrying 16 marks.

3. Attempt Question No. 7 to Question No. 9, each carrying 10 marks.

4. Answers to both the sections should be written in the same answer-book.

Section I

Q.1 Following is the Profit and Loss Account of Mr. Mangesh for the year ended 31st March, 2005:Â¬ 22 

  

	Profit and Loss Account for the year ended 31st March, 2005

	
	

	
	Rs. 
	
	Rs.
	
	

	To Salaries
	2,10,000
	By Gross Profit
	4,18,000
	
	

	To Rent
	20,000
	By Interest on Bank F.D
	8,000
	
	

	To Postage
	7,000
	By Dividend from Indian Company.
	20,000
	
	

	To Stationery and Printing
	27,000
	By Dividend from Co-operative Bank
	2,000
	
	

	To Advertising
	20,000
	By Winning from Lottery
	15,000
	
	

	To Repairs to Office
	22,700
	To Interest on Debentures of
	
	
	

	Conveyance
	17,000
	Limited Company
	5,000
	
	

	To Income tax
	30,000
	
	
	
	

	To Expenses in Connection with
	
	
	
	
	

	Scrutiny case of Income Tax
	4,000
	
	
	
	

	To Fees paid to C.A. for Income Tax
	10,000
	
	
	
	

	To Miscellaneous Expenses
	25,000
	
	
	
	

	To Depreciation
	5,000
	
	
	
	

	To Donations
	20,000
	
	
	
	

	To Net Profit
	50,300
	
	
	
	

	Total
	4,68,000
	Total
	4,68,000
	
	


  

· Additional Information:

· (1) Salaries include bonus due to employees Rs. 30,000 which was not paid before the due date of filing Income Tax Return.

· (2) Rent is paid for residential house of Mr. Mangesh.

· (3) Repairs to office include a. one time cash payment of Rs. 20,000 on 18/08/2004.

· (4) Miscellaneous expenses include purchase of shares of an Indian Company for Rs. 20,000.

· (5) Donations include donation by cash Rs. 15,000 and donation of books worth Rs. 5,000 both to an approved charitable trust.

· (6) Depreciation as per Income Tax Rules is Rs. 4,000.

· Compute the net taxable income of Mr. Mangesh for Assessment Year 2005-06.

· Q 2. Mr. Chandrakant Limaye is employed as a Lecturer in Modern College. He furnishes the following information for the year ending 31st March, 2005 16 

  

	(i) Gross Salary received
	Rs. 30,000 p.m.

	(ii) Rent free bun glow (perquisite value)
	Rs. 5,000 p. a.

	(iii) Leave Salary received
	Rs. 15,000

	(iv) Bonus received 
	Rs. 30,000

	(v) Arrears of Salary received for (2002-03 and 2003-04)
	

	On 17th March, 2005
	Rs. 1, 50,000

	(vi) Profession Tax deducted from salary
	Rs. 200 p.m.

	(vii) Examiner ship remuneration from college
	Rs. 7,500

	(viii) Reimbursement of Medical bills
	Rs. 4,800


  

· (ix) He spent Rs. 4,500/- for purchase of books for his employment.

· (x) He took a Medical Insurance Policy from GIC on 31st March, 2005 by paying a premium of Rs. 10,000/- in cash.

· (xi) He made the following donations during the year :

· (a) Rs. 15,000 to National Cultural Fund

· (b) Rs. 15,000 to Air force Central Welfare Fund

· (c) Rs. 5,000 worth of books given free to poor students.

Mr. Chandrakant Limaye is a handicapped person to the extent of 60%. Compute his net taxable income for the Assessment Year 2005-06.

· Q. 3 . Mr. Sandeep Patil owns two houses in Mumbai, both of which are used by him for his own residence.The particulars of these houses are as follows for the previous year ended 31/3/2005: 14 

  

	Particulars
	House Property I 
	House Property II

	Gross Municipal Valuation
	Rs.2,25,000
	Rs.3,50,000

	Fair Rent
	Rs.2,50,000
	Rs.4,00,000

	Municipal taxes â€” due
	Rs.25,000
	Rs.35,000

	â€” paid
	Rs.2,000
	Rs.1,000

	Repairs
	Rs.2,000
	Rs.3,000

	Insurance Premium â€” due
	Rs.500
	Rs.600

	Ground rent due
	Rs.150
	Rs.200

	Interest on funds borrowed for â€”
	
	

	Construction of house property
	Rs.40,000
	Rs. 40,000

	Year in which loan was taken
	1997
	1998


  

· He also received the following income during the previous year 2004-05: 

  

	(a) Accrued Interest on N.S.C. (VII issue)
	Rs. 6,000

	(b) Winning from lottery
	Rs. 10,000

	(c) Interest on deposits with Bank of India
	Rs. 4,000

	(d) Interest on P.P.F.
	Rs. 5,000.


  

· He also paid Medical Insurance Premium for self, by cheque of Rs. 3,000/-.

· Compute the Net Taxable Income of Mr. Sandeep Patil for the previous year 2004-05, relevant to Assessment Year 2005-06.

  

· Q.4 a) Mr. Sanjay, an Indian Citizen went to U.S.A. for the first time for the purpose of employment on 8 10th May, 2004. He came back to India on 19th November, 2004. Find out his residential status for Assessment Year 2005-06. 8
· b) Mr. Kamlesh purchased a house property for Rs. 1, 00,000 on 27th August, 1978. He made the following additions/alterations to the house property. 

  

Cost of construction of 1st floor in Financial Year 1983-84 Rs. 3, 00,000. Cost of construction of 2nd floor in Financial Year 1990-91 Rs. 4, 00,000.Fair Market Value of the property on 01/4/1981 was Rs. 5, 00,000. He sold the property on 20th October, 2004 for Rs. 55, 00,000.He paid the brokerage of Rs. 55,000 for the sale transaction.The Cost Inflation Index for Financial Year 1981-82 is 1017, for Financial Year 1983-84 is 116, for Financial Year 1990-91 is 182 and for Financial Year 2004-05 is 480.Compute the Capital gain of Mr. Kamlesh chargeable to tax for Assessment Year 2005-06. 

  

· Q.5 Answer any eight of the following questions with reference to Assessment Year 2005-06:- 16 

  

1. Does clubbing of income include clubbing of losses also?

2. What is the amount of exemption available u/s. 10 when income of minor child is clubbed with the parent?

3. Mrs. Anuradha Patil who earns an 'Income from Business' attained the age of 65 years on 15th February, 2005. What is the maximum rebate she can claim?

4. Mr. Santosh Katdare has a gross salary of Rs. 96,000/- before giving any deduction u/s. 16, which is not less than 90% of his Gross Total Income. His allowable, investments for Sec. 88 are Rs. 20,000/-. He claims a rebate u/s. 88 @ 20%. Is he correct?

5. State whether remuneration received by a Member of Parliament is taxable as 'Income from Salaryâ€™?

6. Mr. Kapil Sawant purchased a flat on 1st June, 2002 for Rs. 4, 00,000/ and sold it on 1st February, 2005 for Rs. 4, 75,000/-. He claims the capital gain as 'Long Termâ€™. Is he correct?

7. "Rebate u/s. 88 is available to a partnership firm". Is the statement correct?

8. Mr. Ameya Patwardhan has paid Medical Insurance Premium of his brother who is totally dependent on him. Can he claim deduction u/s. 80 D?

9. A partner has received interest on capital from his partnership firm and claims it as "Income from Other Sources". Is he correct?

10. Mr. Ramesh transferred his tenanted house to Mr. Rajesh and received Rs. 3, 00,000 towards transfer of tenancy rights. Is he liable for Capital Gain Tax?

  

· Q.6 a) Define and explain the following according to the Income Tax Act, 1961. (Any two) 8 

 
1. Assesses.

2. Assessment Year.

3. Person.

· b) Explain the various deductions u/s. 16 of the Income Tax Act, 1961 available from 'Income from Salary' for Assessment Year 2005-06. 8 

 
Section II

· Q.7 "Rates of Tax differ in varied Circumstances". Explain with reference to the provisions of Central Sales 10 Tax Act, 1956. 10   

OR
Explain with reasons whether the following are "Business Activities" as per the provisions of the Central Sales Tax Act, 1956. 

· (a) Running of a Private Engineering College.

· (b) Plantation of Teak Trees.

· (c) Motor car purchased for personal use.

· (d) Export of Ice creams.

· (e) Running of a Restaurant.

· Q.8 (For REVISED COURSE)
Define and explain the terms 'Purchase Price' and 'Sale Price'as per the provisions of the Maharashtra Value Added Tax Act.2002. 10 State with reasons whether the following are 'Goods' as per the provision of Maharashtra Value Added Tax Act, 2002:  
  

· (a) Newspapers.

· (b) Mango Trees.

· (c) Equity Share of Siemens Ltd.

· (d) Residential Flat used for business.

· (e) Malai Kulfi.

· Q.9 (For REVISED COURSE)
Mrs. Divya commenced her business from 1st April, 2005. From following information furnished to you by her regarding purchase and sales transactions, find out from which month she will be liable for Registration and to pay tax as per the provisions of Maharashtra Value Added Tax Act, 2002. Give reasons for your answer. 10   

  

	Year and Month
	Details of Purchases
	
	Details of Sales
	

	
	Taxfree Goods
	Taxable Goods
	Taxfree Goods
	Taxable Goods

	
	Rs.
	Rs.
	Rs.
	Rs.

	April to July 2005
	45,000
	9,000
	60,000
	8,000

	August 2005
	1,00,000
	20,000
	1,20,000
	25,000

	September 2005
	1,50,000
	40,000
	1,75,000
	50,000

	October 2005
	80,000
	50,000
	20,000
	15,000

	November 2005
	20,000
	10,000
	50,000
	20,000

	December 2005
	1,00,000
	25,000
	1,20,000
	40,000


  

OR
· (9) Mr. Vinu, a Registered Dealer of a Product covered under Schedule 'E' Sells Goods for Rs. 7,50,000/-.

· The purcahses required for the product is procured from Registered Dealers within the state as under: Material X Covered by Schedule 'C' Rs. 2,00,000.

· Material Y covered by Schedule 'E' Rs. 4,00,000.

· Mr. Vinu had an Opening Balance (Credit) in VAT credit receivable Account of Rs. 15,000/-Mr. Vinu had utilised material Y for manufacture of Exempted Goods.

· Calculate the tax payable under MVAT Act, 2002.

Computer Systems and Applications

April 2006

Time: 3 Hours

Marks: 100

NB: 

1. Attempt either Part A or Part B. Question no. 1 is compulsory.
2. In section I, attempt any two questions from Question Nos. 2 to 5

3. In section 11, attempt any two questions from Question Nos. 6 to 9

4. All answer should be written in the same answer-book.

5. Figures to right indicate maximum marks. All questions carry equal marks
PART A

· Q.1 (a) Answer the following in one sentence 3 

  

· (i) What is the use of RAM?

· (ii) State one difference between DOS and WINDOWS.

· (iii) Give full form of HTTP.

·   (b) Answer the following in C: 

  

·   (i) What are the uses of getchar() and putchar() ? 2 

·   (ii) What are the different types of storage class specifiers in C.? 2 

·   (iii) Give one example of logical operator in C. 1 

·   (c) State whether the following are true or false: - 3 

  

· (i) DOS is multitasking Operating System.

· (ii) In MS-WORD menu bar is always displayed while editing a document.

· (iii) In MS-WORD, PAGE SETUP option allows you to add page number to a document.

·   (d) Answer the following in FoxPro:   

· (i) Explain the use of. - 3 

· (I) MOD () 

· (II)RECNO ()

· (III)DTOC( )

· (ii) Explain the following: - 2 

· LOCATE (11) SET DELETED ON/OFF

SECTION I
Q.2 (a) Explain briefly about the following: - 6 

· (i) HARD DISK

· (ii) WEBSITES 

· (iii) WAN

·   (b) What is the output of the following C program: - 4
· #define g(x) x> 10? 20-x: x*x
main( )
{int a=3, b=7,c= 11;
b+=a++;
a*=2; 
c+=g(a); 
b+=g(c); 
printf ("%4d%4d%4d\n",a,b,c);}

·   (c) A wholesaler gives discount on the basis of order amount as follows:-   

·   First Rs. 8000 nbsp;     10% discount 

·   Next Rs. 20000       20% discount 

·   Excess       30% discount 

· Write a program in C to input customer name and order amount and print customer name, order amount and discount.

  

· Q.3 (a) Answer in one or two lines the uses of 6 

· (i) MODEM

· (ii) LAN

· (iii)SEARCH ENGINES

·   (b) What does the following C program print? 8 

  

· main()
{int k=O,t=O;
for(k= l; k<=l0; k+=3)
{if(k%2= =1) t+=k; else t - -;
printff"%3d",t); }}

·   (c) Write a program in C to input 10 observations and find and print mean and mean deviation from mean 6 

· Q.4 (a) State whether the following are true or false : - 6 

  

0. Both sides of CD-ROM can be used for data storage. 

1. Floppy disk is a secondary storage device.

2. Windows Exploiter is a Web Browser.

3. Post Office Protocol is used to fetch E-Mail.

4. A serial printer prints one line at a time.

5. Every Computer requires Monitor.

  

1.   (b) Rewrite the following sequence of if statements using switch(). 4 

· if(tp=='m')printf("MANAGER\n");
o else if(tp=='n')printf("Dep. MANAGER\n");
if(tp=='o') printf("OFFICER\n");
else printf("CLERICAL STAFF\n");

·   (c) Write a program in C to input cost of machinery and rate of depreciation and then print a table showing year and depreciation for the first five years where depreciation is calculated using reducing balance method. 4 

  

· Q.5 (a) Explain briefly about following:- 6 

  

· (i) Non -impact Printer (ii) TCP/IP protocol (iii) UNIX

·   (b) Write a C program to find and print the sum of: 4 

·   22 x 3+ 42 x 7+6 2 x 11+ . . . +202 x 39

·   (c) Write a Program in C to accept 10 pairs of x and y and then calculate and print Karl Pearson's correlation coefficient using the following the following formula:   

  

PART B

· Q.1 (a) Answer the following in one sentence: - 3 

  

· (i) What is the use of RAM?

· (ii) State one difference between DOS and WINDOWS.

· (iii) Give full form of HTTP.

·   (b) Answer the following in MS-EXCEL: -   

·   (i) Explain the use of the following functions 2 

·  (I) MAX ( ) (II) UPPER ( )

·   (ii) Explain how to save a worksheet with a Password for protection. 2 

·   (iii) Explain how to add a new row after the 10 row. 1 

·   (c) State whether the following are true or false: - 3
  

· (i)DOS is multitasking Operating System.

· (ii)In MS-WORD menu bar is always displayed while editing a document.

· (iii)In MS-WORD, PAGE SETUP option allows you to add page number to a document.

·   (d) Answer the following in FoxPro: -  
  

·   (i) Explain the use of: - 3
·   (I) MOD ( ) (II) RECNO (III) DTOC ( ) 

·   (ii) Explain the following: - 2
·   (I) MOD ( ) (II) RECNO (III) DTOC ( ) 

· Q.2 (a) Explain briefly about the following : - 6
·   (i) HARD DISK (ii) WEBSITES (iii) WAN 

·   (b) Answer the following in MS-EXCEL: 4
· A worksheet contains employee information such as name, basic pay and department entered in columns A, B and C respectively in first 25 rows. In first row heading is entered and in other rows data has been entered. Explain the steps to compute DA, Additional Pay and Gross pay in columns D,E and F respectively using the policies. DA 90 % of basic pay for basic pay not exceeding Rs. 8000. otherwise it is 65 % of basic pay. Additional Pay Rs. 1500 for "SALES" department and Rs. 1200 for other departments. Gross Pay = Basic Pay + DA + Additional Pay 

·   (c) Answer the following in MS-EXCEL 6
	The following data has been entered in a worksheet

	
	A
	B
	C
	D
	E

	1
	
	Weight in Kgs (x)
	Frequency 
(f)
	fx
	fX^2

	2
	
	48
	3
	
	

	3
	
	52
	7
	
	

	4
	
	55
	12
	
	

	5
	
	60
	8
	
	

	6
	
	68
	6
	
	


  

· Explain the steps to find the mean and standard deviation of weight using the formula:

  

· Q.3 (a) Answer in one or two lines the uses of : - 6 

·  (i) MODEM (ii) LAN (iii) SEARCH ENGINES

·   (b) Answer the following in MS-EXCEL : - 4 

·  Explain the difference between Paste and Paste Special option in edit menu

·   (c) Answer the following in MS-EXCEL 6 

·  Marks out of 100 scored by 40 students are entered in a worksheet in cells A3 to A42.

·  Explain the procedure to prepare a frequency table with class intervals as:

·  below 35, 35-45, 45-60,60 and above.

· Q.4 (a) State whether the following are true or false : - 6 

  

· (i) Both sides of CD-ROM can be used for data storage.

· (ii) Floppy disk is a secondary storage device.

· (iii) Windows Explorer is a Web Browser.

· (iv) Post Office Protocol is used to fetch E-Mail.

· (v) A serial printer prints one line at a time.

· (vi) Every Computer requires Monitor.

·   (b) Answer the following in MS-EXCEL 4 

·  What are one-input and two-input tables?

·  Using Data, Table command explain how to prepare a one-input table to display simple interest values for a principal amount of Rs.20000 for a period of 3 years when the rate of interest varies as 4.5%, 5%, 6%, 6.5%, 8% per annum. Use your own cell addresses.

·   (c) Answer the following in MS-EXCEL 6 

	The following data has been entered in a worksheet

	
	A
	B
	C
	
	

	1
	Name
	Dept.
	Salary
	
	

	2
	RAJAN
	STORES
	12,000
	
	

	3
	SUMA
	ACCOUNTS
	15,500
	
	

	4
	KIRAN
	PRODUCTION
	18,000
	
	

	5
	JAYESH
	ACCOUNTS
	9,600
	
	

	5
	AMIT
	PRODUCTION
	22,000
	
	

	5
	ARTI
	STORES
	11,600
	
	


· Based on these values, write steps to

· (i) Arrange the data in the order of Dept and further in the order of Name. 

· (ii)To display only those rows where salary is above Rs. 15000.

· (iii)To display all the rows except the 'STORES' dept.

· Q.5 (a) Explain briefly about following: - 6 

· (i) Non -impact Printer (ii) TCP/IP protocol (iii) UNIX

·   (b) Answer the following in MS-EXCEL 4 

· State whether the following are true or false: -

· (i) Opening a file as read only does not prevent you from making changes but it prevents you from saving the changes to a file with same name.

· (ii) In order to replace a cell contents with a different entry, it is required to clear the cell first.

· (iii) Macro's can be created using Tools Menu,

· iv) A work book can contain at most three worksheets.

·   (c) Answer the following in MS-EXCEL 4 

· A worksheet contains Roll no. and marks out of 100 in 4 subjects entered in columns A, B, C, D, E respectively in first 26 rows. In the first row, heading is entered and in subsequent rows data has been entered. Explain the procedure to find average and grade in columns F and G respectively. Grade is to be assigned as follows:

  

	Average
	Grade

	75 or more
	A

	60 or more and below 75
	B

	below 60
	C


SECTION II
· Q.6 (a) What are the main icons displayed on the desktop of Windows 95? 2 

·   (b) What is the use of File menu in MS-WORD? Mention any three options. 4 

·   (c) Write FoxPro commands to do the following: 10 

· (i) To make changes in record number 15.

· (ii) To round off contents of a memory variable R to it's nearest 10.

· (iii) To display the 2nd 3rd 4thand 5th characters of a character memory variable MVL.

· (iv) To find total number of records where field BASIC is less than 5000 and store it in R.

· (v) To display "FIBONACCI SERIES" beginning from the 5th row &10th column of the screen.

· (vi) To delete record numbers from 6 to 10.

· (vii) To display contents of character memory variable NM after removing the leading blank spaces.

· (viii) To accept a date from the keyboard to a memory variable DOB from 10th row and 15th column.

· (ix) To sort the table in use according to date of birth (DOB) field to another file DSORT.dbf.

· (x) To increase the contents of a field called AGE by 1 in every record.

· Q.7 (a) What is use of Windows Explorer in Windows-95? 2 

·   (b) Explain the use of Tools menu in MS-WORD? Mention any three options. 4 

·   (c) There is a file called STUDENT.dbf containing fields Roll no. (RNO, N, 4, 0), Name (NAME, C, 20), marks in four subjects,(M1,M2,M3,M4all Numeric,3,0)write a fox pro program to print a report showing roll no., name and marks in 4 subjects of those who are passing in. the 4 subjects by scoring 35 or more. 4 

  

·   (d) Explain the difference between the following in FoxPro: 6 

·  (i) SORT & INDEX (ii)? & DISPLAY (iii) SET CONFIRM ON & SET CONFIRM OFF

· Q.8 (a) What is taskbar in Windows-95. 2 

·   (b) Explain the procedure to open a file called "HISTORY.DOC" which is in My Documents folder and reach the beginning of 5th page of this document using MS-WORD. 4 

  

·   (c) There are 2 tables first one called "WMPl.dbf' containing field's worker no.(WN,N,3,0),name (NAME,C,10) and basic pay(BPAY,N,10,2). Another table "WMP2.dbV' containing fields worker no.(WN,N,3,0), department(DEPT,C,10) and bonus (BONUS,N, 10,2). Write command in FoxPro for the following.   

  

·   (i) To display worker no., name, basic pay, department and bonus for every record. 2 

  

·   (ii) To compute and store bonus at a new rate of 70% of basic pay. 2 

·   (d) There is a file called PAY.dbf containing fieldâ€™s employee no. (E_NO, N, 4), name (NAME, C, 20) and address (ADDR, C, 50). Write a data entry program to add new records to this file. This program must allow the user to continue as long as user wants. 6 

  

· Q.9 (a) What is the use of Recycle Bin in Windows-95. 2 

·   (b) What is the use of Format menu? Mention any 3 options in the same. 4 

·   (c) Explain the following commands or functions in FoxPro: 4 

· (i) SET DECIMALS TO (ii) FOUND ( ) (iii) ACCEPT TO (iv) RECALL

·   (d) There exists a table STOCK.dbf containing fields item number (INO, C, 6), item name (INAME, C,15), price (PRICE, N, 7, 2), Quantity in stock (QST, N, 3). Write a program in FoxPro requesting the user to enter item name and the program should display item no, price and quantity in stock whenever it is found in the file otherwise display "Record Not Found". This program should allow the user to continue as long as he wants. 6 
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NB: 

1. Attempt any five questions.

2. Figures to the right indicate full marks.

· Q.1(a) Explain in brief (any three):- 15 

·   (1) Organizational Behaviour.   

·   (2) Role of Technology in OB.   

·   (3) Law of Individual Differences.   

·   (4) Triple Reward System.   

·   (5) Unethical Manipulation of People.   

·   (6) Continuing Challenges before 0B.   

· (b) Write short note on (any one):- 5 

·   (i) Self-efficiency.   

·   (ii) Result-Oriented Approach.   

· Q.2(a) State whether the following statements are True or False and give reasons for the same (any three):- 15 

·   (i) Grapevine is as fickle, dynamic and varied as people are.   

·   (ii) Semantics is the science of physical distance.   

·   (iii) For communication to be effective managers must be sensitive to the needs of the Employees. .   

·   (iv) Understanding can occur in the receiver's,mind.   

·   (v) Personal barriers can be in the form of psychological distance.   

·   (vi) Content of the rumor changes as it passes from person to person.   

· (b) Write short note on (any one):- 5   

·   (i) Electronic Communication.   

·   (ii) Downward Communication.   

· Q.3 Define work motivation. Compare and contrast different need theories of motivation. 20   

· Q.4(a) Give reasons for the following statements.(any three):â€” 15   

·   (i) Consistency refers to whether a behaviour is relatively stable over a period of time.   

·   (ii) Self appraisal is an important tool of performance appraisal.   

·   (iii) People see what they want to see.   

·   (iv) Profit-sharing works better for the fast growing profitable organizations.   

·   (v) Gain sharing pay plan broadens the understanding of employees.   

·   (vi) In 360 degree feedback, the data is .gathered from variety of sources.   

· (b) Write a short note on (any one):- 5   

·   (i) Appraisal Philosophy.   

·   (ii) M.B.O.   

· Q.5 Distinguish between a Leader and a Manager. Discuss emerging approaches to leadership. 20   

· Q.6(a) Explain in brief (any three):- 15   

·   (i) Employee may exhibit their work dissatisfaction through tardiness.   

·   (ii) Survey data can spur competition among different departments in large organization.   

·   (iii) Job satisfaction is multi dimensional.   

·   (iv) Employee comments are very useful for management.   

·   (v) Job satisfaction and Life satisfaction are closely related.   

·   (vi) Attitudes influence behaviours and behavior influence attitude.   

· (b) Write short note on (any one):- 5   

·   (i) Work moods.   

·   (ii) Effects of employee attitudes.   

· Q.7(a) State whether the following statements are True or False and give reasons for the same (any three):- 15   

·   (i) Conflicts can never be constructive.   

·   (ii) Intergroup conflicts are purposely induced in the organisation.   

·   (iii) Conflicts occur due to differences in values.   

·   (iv) The most desirable life position is "I am OK - youâ€™re not OK".   

·   (v) Strokes may be positive, negative or mixed.   

·   (vi) Conflicts may produce three distinct outcomes.   

· (b) Write a short note on (any one):- 5   

·   (i) Assertive behaviour.   

·   (ii) Effects of conflicts.   

· Q.8 Describe the following. 20   

·   Brain storming ,Nominal group technique, Delphi-decision making, Dialectic decision method   

· Q.9(a) Explain briefly (any three):- 15   

·   (i) Managers in the role of Linking pins.   

·   (ii) Life cycle of a Team.   

·   (iii) Characteristics of effective teams.   

·   (iv) Contingency, organizational design.   

·   (v) Social loafing.   

·   (vi) Process consultation.   

· (b) Write a short note on (any one):- 5   

·   (i) Matrix Organization.   

·   (ii) Problems in Teams.   

· Q.10 Define stress. Describe its symptoms and extreme products of stres. 20   

EXPORT MARKETING
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Time: 3 Hours

Marks: 100

NB: 

1. All questions are compulsaory.

2. Figures to the right indicte maximum marks.

Section I

· Q.1 a) Answer in brief. (any four) 8 

·   i) Export House.   

·   ii) MMTC.   

·   iii) Four features of foreign trade policy 2004-2009.   

·   iv) Product.   

·   v) Labelling.   

·   vi) Suggest four measures to improve India's share in the World Trade.   

·   vii) Four objectives of Trading Bloc.   

·   viii) Target Market   

·   b) State with reasons, whether the following statements are true of false (any three) 6 

·   i) Import substitution helps to earn foreign exchange.   

·   ii) Dumping refers to selling in foreign market at a price above domestic market price.   

·   iii) Trading blocs and free international trade move together.   

·   vi) Indirect exporting needs limited financial investment.   

·   v) Every exporter has to register his name with RBI and obtain code number.   

·   vi) Exporters are not in favour of long term export policy.   

· Q.2 Answer any three from the following 18 

·   a) Explain the main problems faced by exporter in export marketing.   

·   b) "Export act as an engine of econimic growth" - Explain.   

·   c) What are the advantages of tariff barriers ?   

·   d) What is G.S.P. ? Explain the features of G.S.P.   

·   e) Write note on "NAFTA" as a trade bloc.   

·   f) Explain the qualities of a successful export manager.   

· Q.3 Answer any three from the following 18 

·   a) What is indirect exporting? Explain its advantages.   

·   b) What is licencing ? Explain its advantages and disadvantages.   

·   c) Distinguish between merchant exporter and manufacturer exporter.   

·   d) What are the implications of EXIM policy 2002-2007 ?   

·   e) What is product planing ? Explain the need and importance of product planing.   

·   f) Explain the importance of after-sales service in export market.   

Section II

· Q.4 a) Answer in brief. (any four) 8 

·   i) ECGC.   

·   ii) ARE-1 Form.   

·   iii) Mate's receipt.   

·   iv) Export worthy unit.   

·   v) C & F Agent.   

·   vi) DBK.   

·   vii) Airway Bill.   

·   viii) IRMAC Scheme.   

·   b) Give full forms of the following abbrevations 6 

·   i) EPCG   

·   ii) OPEC   

·   iii) IIFT   

·   iv) STP   

·   v) IBRD   

·   vi) EIC   

· Q.5 Answer any three from the following 18 

·   a) Explain any two types of pricing strategies.   

·   b) What is pre-shipment finance ? What are its features ?   

·   c) Write a note on non-fund based assistance provided by commercial bank to exporter.   

·   d) Explain the role played by SIDBI in export promotion.   

·   e) What is letter of credit ? What are the advantages of letter of credit to the importer ?   

·   f) What is ISO-9000 ? What are its advantages ?   

· Q.6 Answer any three from the following 18 

·   a) What is commercial invioce ? What is the importance of commercial invoice ?   

·   b) What is Shipping Bill ? Explain its importance and contents.   

·   c) What are the different financial incentives available to the Indian exporter ?   

·   d) Write a note on MPEDA and ICA.   

·   e) What is SEZ ? Explain its features.   

·   f) From the following data calculate minimum FOB price in US $:-   

·   

	Cost of material 
	Rs. 2,25,000

	Cost of Labour 
	Rs. 1,20,000

	Local transport charges 
	Rs. 18,000

	Packing charges 
	Rs. 12,000

	Profit contribution
	Rs. 65,000

	Duty Drawback 
	10% of FOB Price

	Conversion Rate 
	1 US $ = Rs. 45


